
PARTS LIST INSTALLATION INSTRUCTIONS

1. Loosen engine assembly and remove drive belt. If
the engine base does not have holes as shown
below, locate and drill holes.

NOTE:  It may be easier to install the idler if engine
assembly and clutch pulley are removed.

2. Attach idler pulley to belt tensioner bracket as
shown in the parts diagram, Step 1.

3. Attach extension spring to engine base as shown
in parts diagram, Step 2. Tighten the locknut only
enough to engage the locking mechanism on the
nut.

4. Attach pulley assembly to engine base as shown
in parts diagram, Step 3. The belt tensioner
bracket arm should be able to rotate freely around
the cap screw.

5. Using needle nosed pliers, make a hook out of the
unused loop of the extension spring. Attach this
end to the belt tensioner bracket. Close the loop.

11-1/2"

13-3/16"

14-7/16"

15"

Spring Mounting Hole
Ø1/4" Clearance (.281)

Bracket Mounting Hole
Ø3/8" Clearance (.406)

Step 2 Step 3

Step 1

1

6

6
3

49

810

711

12

5

2

Engine Base

DRIVE BELT IDLER KIT 95568
March 1, 2013

Lit. No. 95707, Rev. 03

 
95568 Drive Belt Idler Kit  

Item Part Qty Description 
1 95566 1 Belt Tensioner Bracket 
2 95579 1 Extension Spring 
3 65509 1 2.0" Idler Pulley 
4 M2071-1* 1 3/8-16 x 1-1/4 Hex Cap Screw 
5 67111 1 3/8-16 x 1-3/4 Hex Cap Screw 
6 91351 2 3/8-16 Hex Locknut  
7 91431 1 3/8-16 Hex Nut 
8 91282 1 3/8 Spring Lock Washer 
9 68067 1 1/4-20 x 1 Hex Cap Screw 

10 91281 1 1/4 Spring Lock Washer 
11 91429 1 1/4-20 Hex Nut 
12 67076 1 1/4-20 Hex Locknut 

 * Availab le as service part kit only (5 per package). 
  

  CAUTION
Disconnect power and tag out if required
before servicing or performing maintenance.



Engine Mount

9-7/8"

5-3/4"

Copyright © 2013 Douglas Dynamics, LLC. All rights reserved. This material may not be reproduced or copied, in whole or in part, in any printed,
mechanical, electronic, film or other distribution and storage media, without the written consent of the company. Authorization to photocopy items
for internal or personal use by the company’s outlets or spreader owner is granted.

The company reserves the right under its product improvement policy to change construction or design details and furnish equipment when so
altered without reference to illustrations or specifications used. Do not exceed vehicle ratings with a spreader. The company offers a limited
warranty for all spreaders. See separately printed page for this important information.

Lit. No. 95707, Rev. 03 Printed in U.S.A. March 1, 2013

DRIVE BELT IDLER KIT 95568

NOTE:  Shown with engine removed for clarity.

NOTE:  Shown with engine and mount removed
for clarity.

6. Position the engine mount as shown below.
Tighten mounting hardware.

7. Route drive belt around the pulleys as shown.


